P(Y\H/\M@ _

3) 4, —12, 36, —108, 324, ... 1 %328
) : s 18

o i g Sk

6€OWMC/ i (1e1Hhe

6) 26, 22, 18, 14, 10,

5)1 =5. 25, =125, 623
\\g{O/\WmC/ iff= i{ aly ‘H/\/\/\Qﬁ(/ op e

Find the explicit formula and the recursive formula. oy W J =
antinene d=-T o CARMMRG |

7 =32, —32,_46._53, ,,, —37 =30 el
‘Q_&(/ 6( 2-33 “7 F.-eC‘., a :"37 "*V\:an-\‘\—"j
= ==-37t(n=-D(1)

+ disnpuie B coubWCPE
oXp an‘~83+(r\ D(—‘l) e ‘o qerns (ER2 14
\0p= -2 ot ”3—'1—\(\ il
A=~ =) _ 4V\ [ﬂ L{'L\l
e a0 oo Apirkaetic d=-[p0 10) 9, —T=Se=s—p At 4T TR
e e e

Ko ow."30* (N=D(-100) Expl ay=-a+(n-D(3)
M = —30~1000+100 q;,oﬁg,n EN
10— \00n —\\
’ mL—j,'y, =77 381, ... beometnc ¥=-3 12) -3, 6. =12 . LeoMetIC F= =0
ge(":q_:"g o‘nzqn—l.-?) @'E_C:;q‘:..g Ay > a\qfl.ﬁ’aﬂ‘w

Exp -'am=—?>(—a3“" |

—5( 3)

-100__500, . (Deomeﬁf cv=-S
- : '"S




Given the first term and the common ratio of
a geometric sequence list the next three

135) a =40, d=7 terms.
| 16) a =3, r=-5
') i7‘)‘6“\1)\%‘] 3 E\S 19 =375
_’ 2=, =

B g

Find the term hamed in the problem.

17) -12, -7, 22, 3, ”Ari«k\nmeh‘c EFEN) | ﬁY;T»\M{(h\C CD:*’,OO

Fi 18) 18, -82, —182, -282, ..
ind a, Find a,

== Vot (34-1)(5) Y fal-D(100)

'

G 53) "

20) -2, 10, 50, 250, . GeomeTNC V=5

Find a,

N,
19) 4, -2, 1, —%, (geotv\e’mc, r,»»\/;\

Find a
12

- _ -
o - "%("\/a) C{ﬂ’/a\(6>

_ SO
(@\&:’%%9\ %’ e J

Given a term In an arithmetic sequence and the common difference find the term named in the
e ——

problem. %Mm’\i\ov\q'% \f\/\C ‘FOVMVU\ g‘w\(e jov d)DI/\\-[- \(/(\DW “.1‘#

21) az3=—-206, d=-10 22) a33=661, d=20

Find a, Find a,
A, = ~“A0 * (n—a%>€l0> Q\f\ = bb\ t (Y\—557(a(>>
Ogz = ~A00 (33-5{3>('|0) a7 bb| (37-232)(3 ()>

--20b _—
;ass > ( 013.,'74\)
Given n a geometric sequence and the common erm named in the \QPZ
a,.

problem. 4,an+¢ the Frmva Cinre Yov doc+  leno W

23)a=l,r=l 24) a,=6250, r=-5
L 2 Finda9 L
Findar12 n-
PR e 6 - LaSO(-S)
" ‘87(9\ " 9o
o N3 A, = L2RSO(—5)
e @(?ﬂ

T U )

= i G



27. i o ' R
Determine the number of terms in the sequence 28. Which term is 3125 in the sequence

Acithaene d=-Y 11 1 Getometnc Y=

L
A7 -Gog aaE sl ot

i

o b -6, -10, -14, ... -74

1--4 K
R R (RIS b .
- ?L{ 8= (n-DE) G, 313 ki c,as(SD-l
¥ 17=1- n- - 9 453IdoE
= ':jsquS\aS:h’l
Tt

Cio-n |
Given the following two terms in an ARITHMETIC §[:'QUENCE, find the term named in the problem.

30. a;o = —12 and az; = —38. Find az;.

manipula€egh 2 a, < -1d* (n-14)d

peg . —'226/and d3s = 706. Find as.
anipiaieg NG a,= 336+ (0710 d

Gnd d 2 Tob=aRb (35104 fdd - -38=~ 1a+(Ea-1d
| Ygo = Ald Ve -3k = 13d
d=-&

20=d
s gy 330 (-DEO  ypdateeqp - a“=-19\+(n-\0\\(-3)

S+ [al-10) (30) Gel ag 5 a377 121 (3’1—\%)(—8\)
’ “3'):’4

s in a GEOMETRIC SEQUENCE, find the term named in the problem.
e

32. a; = 36 and ag = —972. Find
)‘;‘

wanipu\ate eqhn * A= gely
@_ngb__r o= G LN
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: ,fgiHALLENGF. PROBLEMS!!! Think you’ve mastered sequences? Give these more difficult p
q;t‘v |: an arithmetic sequence, a, = 5k + 3j and az = 4k + 4j. Find the 8t term. )( ‘
ANPUIALE, . g e 5k+d+(n -2)d > update egin < O sk+:§,+(v\ -3 d
fiad d - 4\4“% ser2jt (30l and ag - ag - sp3) (8- 54)(kd)
= 4k Smwci / a, —5\4+3 FoLCE)
/Ku e smaj b 16
35. Find the 23" term of the sequence 52,372, =TI == \4- +QJ

Arithuenc = d =83
S —5(;1 P T

a,,=SVa+ (33- D(—?F}j r 'm'@j
Aa3=S{a T 2 (-8V2) 5 3
36 ‘th_awmanymultlplesof13arethere between 33 and 2152 ~ 1
¥ vlhp\eg of |3 ave o Hhat 12 will ¥ Wi ¥
33&3\39 ,30\ Qog'BQ’f(Y\“D(B)
Ay=309 loa = (W-D(13)

e

roblems a try!




